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o Answer any ten of the following questions: 2x10
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(i) Find the activity of 1.0 mg of Radon ( gs RN ) after One v,
(Half life of > Rn is 3.8 days).
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(iii) Show that the disintegration energy of a-particle is Q =T — 4 \nswer ]
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Where T, is the kinetic energy of a a particle. A is the mass numhhmm.is
of parent nucleus. 248 Vot

(b)(i) FIEERIGHA 7 T804 (shell model) AT Eear ‘T‘;lmeg
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(iii) Predict the ground state and parity of f;Al and =S JE\M
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(c)(i) Wha are the essential

parts of a particle accelerator :
(ii) Draw 'the schematic diagram of cyclotron and explain the princ#
of operation.
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ts of radius U-
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“(iii) A cyclotron having segmen
proton. The polarity is rev

accelerating
0 Calculate the energy of the particle.

Assume mass of proton 1 .67x 10-27kg.
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2 Why is it necessary”?




